



Some Properties of the Generalized Fibonacci and Lucas Numbers

Gospava B. Djordjević^a, Snežana S. Djordjević^a

^aUniversity of Niš, Faculty of Technology, Department of Mathematics, 16000 Leskovac, Serbia

Abstract. In this paper we consider the generalized Fibonacci numbers $F_{n,m}$ and the generalized Lucas numbers $L_{n,m}$. Also, we introduce new sequences of numbers $A_{n,m}$, $B_{n,m}$, $C_{n,m}$ and $D_{n,m}$. Further, we find the generating functions and some recurrence relations for these sequences of numbers.

1. Introduction

Generalized Fibonacci numbers $F_{n,m}$ ($m \geq 2$) are given by ([1], [2], for $x=1$)

$$F_{n,m} = F_{n-1,m} + F_{n-m,m}, \quad n \geq m, \quad (1)$$

with:

$$F_{0,m} = 0, \quad F_{1,m} = \dots = F_{m-1,m} = 1. \quad (2)$$

Generalized Lucas numbers $L_{n,m}$ are given by ([1], [2], for $x=1$)

$$L_{n,m} = L_{n-1,m} + L_{n-m,m}, \quad n \geq m, \quad (3)$$

with:

$$L_{0,m} = 2, \quad L_{1,m} = \dots = L_{m-1,m} = 1. \quad (4)$$

So, using the well-known method, we find the following generating functions for $F_{n,m}$ and $L_{n,m}$, respectively:

$$F_m(t) = \frac{t}{1-t-t^m} = \sum_{n=0}^{\infty} F_{n,m} t^n, \quad (5)$$

$$L_m(t) = \frac{2-t}{1-t-t^m} = \sum_{n=0}^{\infty} L_{n,m} t^n. \quad (6)$$

2010 *Mathematics Subject Classification.* Primary 11B83; Secondary 11B37, 11B39

Keywords. Recurrence relation, Convolution, Generating function, Explicit representation, Summation formula

Received: 19 August 2019; Accepted: 02 June 2020

Communicated by Miodrag Spalević

Email addresses: gospava48@ptt.rs (Gospava B. Djordjević), snezanadjordjevic1e@gmail.com (Snežana S. Djordjević)

Using the relations (5) and (6), we get the following explicit formulas, for the sequences $F_{n,m}$ and $L_{n,m}$, respectively:

$$F_{n+1,m} = \sum_{k=0}^{\lfloor n/m \rfloor} \binom{n - (m-1)k}{k}, \tag{7}$$

$$L_{n,m} = \sum_{k=0}^{\lfloor n/m \rfloor} \frac{n - (m-2)k}{n - (m-1)k} \binom{n - (m-1)k}{k}. \tag{8}$$

Remark 1.1. The numbers $F_{n,m}$ are the special case of the Humbert’s polynomials for $x = 1$, (see [6]), i.e., $F_{n+1,m} = P_n(m, 1/m, -1, -1, 1)$.

It is easy to prove the following relations

$$\begin{aligned} L_{n,m} &= F_{n+1,m} + F_{n+1-m,m} \\ &= F_{n,m} + 2F_{n+1-m,m}. \end{aligned}$$

Next, from (1) and (2), we find the first $m + 3$ members of $F_{n,m}$, and, by (3) and (4), the first $m + 3$ members of $L_{n,m}$:

Table 1:

n	$F_{n,m}$	$L_{n,m}$
0	0	2
1	1	1
2	1	1
...
$m - 1$	1	1
m	1	3
$m + 1$	2	4
$m + 2$	3	5
$m + 3$	4	6
...

The particular cases of $F_{n,m}$ and $L_{n,m}$ are $F_{n,2}$, $L_{n,2}$, $F_{n,3}$ and $L_{n,3}$. The first 13 members of these numbers are given by Table 2. Namely, the numbers $F_{n,2}$ are the known Fibonacci numbers and $L_{n,2}$ are the known Lucas numbers.

Something more on the generalized Fibonacci and generalized Lucas polynomials and numbers can be seen in [3] and [4].

2. Summation formula

In this section we find a summation formula for the generalized Lucas numbers $L_{n,m}$.

Theorem 2.1. The numbers $L_{n,m}$ and $F_{n,m}$ satisfy the following relations

$$\sum_{i=0}^{\lfloor (n-1)/m \rfloor} (-1)^i L_{n-mi,m} = \begin{cases} F_{n+1,m} \pm 1, & n = mk + l, \quad l = 1, 2, \dots, m - 1, \\ F_{n+1,m}, & n = mk + m. \end{cases} \tag{9}$$

Table 2:

n	$F_{n,2}$	$L_{n,2}$	$F_{n,3}$	$L_{n,3}$	$F_{n,4}$	$L_{n,4}$
0	0	2	0	2	0	2
1	1	1	1	1	1	1
2	1	3	1	1	1	1
3	2	4	1	3	1	1
4	3	7	2	4	1	3
5	5	11	3	5	2	4
6	8	18	4	8	3	5
7	13	29	6	12	4	6
8	21	47	9	17	5	9
9	34	76	13	25	7	13
10	55	123	19	37	10	18
11	89	199	28	54	14	24
12	144	322	41	79	19	33

Proof. Here we use mathematical induction on n .
 It is easy to check the formula (9) for $n = 1, 2, \dots, m - 1$.
 Suppose that (9) is correct for $n \geq 1$. Then:

1° For $n = mk + m$, we find:

$$\begin{aligned} \sum_{i=0}^k (-1)^i L_{n-mi,m} &= \\ L_{n,m} - L_{n-m,m} + L_{n-2m,m} + \dots + (-1)^{k-1} L_{2m,m} + (-1)^k L_{m,m} &= \\ = (F_{n+1,m} + F_{n+1-m,m}) - (F_{n+1-m,m} + F_{n+1-2m,m}) + \dots + (-1)^{k-1} (F_{2m+1,m} + F_{m+1,m}) + (-1)^k (F_{m+1,m} + F_{1,m}) &= \\ = F_{n+1,m} \pm F_{1,m} = F_{n+1,m} \pm 1; \end{aligned}$$

2° For $n = mk + l$, $l = 1, 2, \dots, m - 1$, we get:

$$\begin{aligned} L_{n,m} - L_{n-m,m} + L_{n-2m,m} + \dots + (-1)^{k-1} L_{l+m,m} + (-1)^k L_{l,m} &= \\ = (F_{n+1,m} + F_{n+1-m,m}) - (F_{n+1-m,m} + F_{n+1-2m,m}) + \dots + (-1)^{k-1} (F_{l+1+m,m} + F_{l+1,m}) + (-1)^k F_{l+1,m} (L_{l,m} = F_{l+1,m}) &= \\ = F_{n+1,m}. \end{aligned}$$

Remark 2.2. For $m = 2$, by (9), we get

$$\sum_{i=0}^{[(n-1)/2]} (-1)^i L_{n-2i} = \begin{cases} F_{n+1} \pm 1, & n = 2k + 2, \\ F_{n+1}, & n = 2k + 1. \end{cases}$$

and, for $m = 3$, again by (9), we find

$$\sum_{i=0}^{[(n-1)/3]} (-1)^i L_{n-3i,3} = \begin{cases} F_{n+1,3} \pm 1, & n = 3k + 3, \\ F_{n+1,3}, & n = 3k + l, \quad l = 1, 2, \end{cases}$$

where $k \in \mathbb{N}$.

3. New sequences of numbers

In this section we introduce and we consider new sequences of numbers: $A_{n,m}$, $B_{n,m}$, $C_{n,m}$, and $D_{n,m}$. Namely, these numbers are the convolutions of the generalized Fibonacci numbers and the generalized Lucas numbers. For these sequences of numbers we find the generating functions and some interesting properties.

Definition 3.1. The sequence of numbers $A_{n,m}$ ($m \geq 2$) is defined by

$$A_{n,m} = \sum_{i=1}^{[(n+m-1)/m]} F_{i,m} F_{n-m(i-1),m}. \tag{10}$$

where $n = mp + l$, $l = 0, 1, 2, \dots, m - 1$.

Some first members of the sequences $A_{n,2}$, $A_{n,3}$ and $A_{n,m}$, are given in the following table.

Table 3:

n	$A_{n,2}$	$A_{n,3}$	n	$A_{n,m}$
1	1	1	1	1
2	1	1	2	1
3	3
5	9	4	$m - 1$	1
6	13	5	m	1
7	25	9	$m + 1$	3
8	38	13	$m + 2$	4
9	68	18	$m + 3$	5
...

Theorem 3.2. The generating function for the sequence of numbers $A_{n,m}$ is given by

$$A_m(t) = \frac{t}{(1 - t - t^m)(1 - t^m - t^{m^2})}. \tag{11}$$

Proof. Since

$$A_m(t) = A_{1,m}t + A_{2,m}t^2 + A_{3,m}t^3 + \dots + A_{n,m}t^n + \dots,$$

and by (10), we get

$$\begin{aligned} A_m(t) &= (F_{1,m}F_{1,m})t + (F_{1,m}F_{2,m})t^2 + (F_{1,m}F_{3,m})t^3 + \dots \\ &\quad + (F_{1,m}F_{m,m})t^m + (F_{1,m}F_{m+1,m} + F_{2,m}F_{1,m})t^{m+1} + \dots \\ &= (F_{1,m}t + F_{2,m}t^{m+1} + F_{3,m}t^{2m+1} + F_{4,m}t^{3m+1} + \dots) \cdot (F_{1,m} + F_{2,m}t + F_{3,m}t^2 + F_{4,m}t^3 + \dots) \\ &= \frac{1}{t^{m-1}} [F_{1,m}t^m + F_{2,m}t^{2m} + F_{3,m}t^{3m} + F_{4,m}t^{4m} + \dots] \cdot \frac{1}{t} [F_{1,m}t + F_{2,m}t^2 + F_{3,m}t^3 + F_{4,m}t^4 + \dots] \\ &= \frac{1}{t^{m-1}} \cdot \frac{t^m}{1 - t^m - t^{m^2}} \cdot \frac{1}{t} \cdot \frac{t}{1 - t - t^m} \\ &= \frac{t}{(1 - t - t^m)(1 - t^m - t^{m^2})}. \end{aligned}$$

Corollary 3.3. For $m = 2$ (see [5]), by (10), we get

$$A_2(t) = \frac{t}{(1-t-t^2)(1-t^2-t^4)} = \sum_{n=0}^{\infty} A_n t^n.$$

Theorem 3.4. The numbers $A_{n,m}$ satisfy the following relations

$$A_{n,m} = \begin{cases} A_{n-1,m} + A_{n-m,m}, & \text{if } l \neq 1, \\ A_{n-1,m} + A_{n-m,m} + F_{p+1,m}, & \text{if } l = 1, \end{cases} \tag{12}$$

where $n = mp + l$ and $l = 0, 1, \dots, m - 1$.

Proof. Let $m \geq 2$.

1° If $l = 0$, then we get:

$$\begin{aligned} n &= mp, \quad [(mp + m - 1)/m] = p, \\ n - 1 &= mp - 1, \quad [(mp - 1 + m - 1)/m] = p, \\ n - m &= mp - m, \quad [(mp - m + m - 1)/m] = p - 1, \end{aligned}$$

and

$$\begin{aligned} A_{n,m} &= F_{1,m}F_{n,m} + F_{2,m}F_{n-m,m} + F_{3,m}F_{n-2m,m} + \dots + F_{p,m}F_{m,m}, \\ A_{n-1,m} &= F_{1,m}F_{n-1,m} + F_{2,m}F_{n-1-m,m} + F_{3,m}F_{n-1-2m,m} + \dots + F_{p,m}F_{m-1,m}, \\ A_{n-m,m} &= F_{1,m}F_{n-m,m} + F_{2,m}F_{n-2m,m} + F_{3,m}F_{n-3m,m} + \dots + F_{p-1,m}F_{m,m}. \end{aligned}$$

Since

$$A_{n-1,m} + A_{n-m,m} = F_{1,m}F_{n,m} + F_{2,m}F_{n-m,m} + F_{3,m}F_{n-2m,m} + \dots + F_{p,m}F_{m-1,m}, \quad (F_{m,m} = F_{m-1,m} = 1),$$

we conclude that

$$A_{n,m} = A_{n-1,m} + A_{n-m,m}.$$

2° If $l = 1$, then we find:

$$\begin{aligned} n &= mp + 1, \quad [(mp + 1 + m - 1)/m] = p + 1, \\ n - 1 &= mp, \quad [(mp + 1 - 1 + m - 1)/m] = p, \\ n - m &= mp + 1 - m, \quad [(mp + 1 - m + m - 1)/m] = p, \end{aligned}$$

and

$$\begin{aligned} A_{n,m} &= F_{1,m}F_{n,m} + F_{2,m}F_{n-m,m} + \dots + F_{p,m}F_{m+1,m} + F_{p+1,m}F_{1,m}, \\ A_{n-1,m} &= F_{1,m}F_{n-1,m} + F_{2,m}F_{n-1-m,m} + \dots + F_{p,m}F_{m,m}, \\ A_{n-m,m} &= F_{1,m}F_{n-m,m} + F_{2,m}F_{n-2m,m} + \dots + F_{p,m}F_{1,m}. \end{aligned}$$

So, we see that the next relation holds:

$$A_{n,m} = A_{n-1,m} + A_{n-m,m} + F_{p+1,m}.$$

3° If $l \geq 2$, then

$$\begin{aligned} n &= mp + l, \quad [(mp + l + m - 1)/m] = p + 1, \\ n - 1 &= mp + l - 1, \quad [(mp + l - 1 + m - 1)/m] = p + 1, \\ n - m &= mp + l - m, \quad [(mp + l - m + m - 1)/m] = p, \end{aligned}$$

and

$$\begin{aligned} A_{n,m} &= F_{1,m}F_{n,m} + F_{2,m}F_{n-m,m} + \cdots + F_{p,m}F_{m+l,m} + F_{p+1,m}F_{l,m}; \\ A_{n-1,m} &= F_{1,m}F_{n-1,m} + F_{2,m}F_{n-1-m,m} + \cdots + F_{p,m}F_{m+l-1,m} + F_{p+1,m}F_{l-1,m}; \\ A_{n-m,m} &= F_{1,m}F_{n-m,m} + F_{2,m}F_{n-2m,m} + \cdots + F_{p,m}F_{l,m}. \end{aligned}$$

So

$$A_{n,m} = A_{n-1,m} + A_{n-m,m}, \quad (F_{l,m} = F_{l-1,m}).$$

Example 3.5. Let $m = 3$ and $n = 3 \cdot 2$, then

$$\begin{aligned} A_{6,3} &= F_{1,3}F_{6,3} + F_{2,3}F_{3,3} = 5, \\ A_{5,3} &= F_{1,3}F_{5,3} + F_{2,3}F_{2,3} = 4, \\ A_{3,3} &= F_{1,3}F_{3,3} = 1, \\ A_{6,3} &= A_{5,3} + A_{3,3} = 5. \end{aligned}$$

If $n = 3 \cdot 2 + 1$, then we get

$$\begin{aligned} A_{7,3} &= F_{1,3}F_{7,3} + F_{2,3}F_{4,3} + F_{3,3}F_{1,3} = 9, \\ A_{4,3} &= F_{1,3}F_{4,3} + F_{2,3}F_{1,3} = 3, \\ A_{7,3} &= A_{6,3} + A_{4,3} + F_{3,3} = 9. \end{aligned}$$

If $n = 3 \cdot 2 + 2$, then

$$\begin{aligned} A_{8,3} &= F_{1,3}F_{8,3} + F_{2,3}F_{5,3} + F_{3,3}F_{2,3} = 13, \\ A_{8,9} &= A_{7,3} + A_{5,3} = 13. \end{aligned}$$

Definition 3.6. The sequence $B_{n,m}$ is defined by

$$B_{n,m} = \sum_{i=1}^{[(n+m-1)/m]} F_{i,m}L_{n-m(i-1),m}, \quad (13)$$

where $n = mp + l$, $l = 0, 1, 2, \dots, m - 1$.

Theorem 3.7. For $m \geq 2$ and $n = mp + l$, where $l = 0, 1, \dots, m - 1$, we get

$$B_{n,m} = \begin{cases} B_{n-1,m} + B_{n-m,m} + F_{p+1,m}, & l = 1, \\ B_{n-1,m} + B_{n-m,m}, & l \neq 0, 1, \\ B_{n-1,m} + B_{n-m,m} + 2F_{p,m}, & l = 0. \end{cases} \quad (14)$$

Proof. 1° If $l = 0$, then we get:

$$\begin{aligned} n &= mp, \quad [(mp + m - 1)/m] = p, \\ n - 1 &= mp - 1, \quad [(mp - 1 + m - 1)/m] = p, \\ n - m &= mp - m, \quad [(mp - m + m - 1)/m] = p - 1, \end{aligned}$$

and

$$\begin{aligned} B_{n,m} &= F_{1,m}L_{n,m} + F_{2,m}L_{n-m,m} + \cdots + F_{p,m}L_{n-m(p-1),m}, \\ B_{n-1,m} &= F_{1,m}L_{n-1,m} + F_{2,m}L_{n-1-m,m} + \cdots + F_{p-1,m}L_{n-1-m(p-2),m} + F_{p,m}L_{n-1-m(p-1),m}, \\ B_{n-m,m} &= F_{1,m}L_{n-m,m} + F_{2,m}L_{n-2m,m} + \cdots + F_{p-1,m}L_{n-m-m(p-2),m}. \end{aligned}$$

Hence

$$\begin{aligned} B_{n-1,m} + B_{n-m,m} &= F_{1,m}L_{n,m} + F_{2,m}L_{n-m,m} + \cdots + F_{p-1,m}L_{2m-1,m} + F_{p,m}L_{m-1,m} \\ &= F_{1,m}L_{n,m} + F_{2,m}L_{n-m,m} + \cdots + F_{p,m}(L_{m,m} - L_{0,m}) \\ &= B_{n,m} - 2F_{p,m}. \end{aligned}$$

2° If $l = 1$, then:

$$\begin{aligned} n &= mp + 1, \quad [(mp + 1 + m - 1)/m] = p + 1, \\ n - 1 &= mp, \quad [(mp + m - 1)/m] = p, \\ n - m &= mp + 1 - m, \quad [(mp + 1 - m + m - 1)/m] = p, \end{aligned}$$

and

$$\begin{aligned} B_{n,m} &= F_{1,m}L_{n,m} + F_{2,m}L_{n-m,m} + \cdots + F_{p,m}L_{m+1,m} + F_{p+1,m}L_{1,m}, \\ B_{n-1,m} &= F_{1,m}L_{n-1,m} + F_{2,m}L_{n-1-m,m} + \cdots + F_{p,m}L_{m,m}, \\ B_{n-m,m} &= F_{1,m}L_{n-m,m} + F_{2,m}L_{n-2m,m} + \cdots + F_{p,m}L_{1,m}. \end{aligned}$$

So

$$B_{n,m} = B_{n-1,m} + B_{n-m,m} + F_{p+1,m}.$$

3° Let $l \geq 2$. Now we get:

$$\begin{aligned} n &= mp + l, \quad [(mp + l + m - 1)/m] = p + 1, \\ n - 1 &= mp + l - 1, \quad [(mp + l - 1 + m - 1)/m] = p + 1, \\ n - m &= mp - m + l, \quad [(mp + l - m + m - 1)/m] = p, \end{aligned}$$

and

$$\begin{aligned} B_{n,m} &= F_{1,m}L_{n,m} + F_{2,m}L_{n-m,m} + \cdots + F_{p,m}L_{m+l,m} + F_{p+1,m}L_{l,m}, \\ B_{n-1,m} &= F_{1,m}L_{n-1,m} + F_{2,m}L_{n-1-m,m} + \cdots + F_{p,m}L_{l+m-1,m} + F_{p+1,m}L_{l-1,m}, \\ B_{n-m,m} &= F_{1,m}L_{n-m,m} + F_{2,m}L_{n-2m,m} + \cdots + F_{p,m}L_{l,m}. \end{aligned}$$

So

$$B_{n,m} = B_{n-1,m} + B_{n-m,m}, \quad (L_{l-1,m} = L_{l,m}).$$

Example 3.8. Let $m = 4$ and $n = 4 \cdot 2$, then we have

$$\begin{aligned} B_{8,4} &= F_{1,4}L_{8,4} + F_{2,4}L_{4,4} = 12, \\ B_{7,4} &= F_{1,4}L_{7,4} + F_{2,4}L_{3,4} = 7, \\ B_{4,4} &= F_{1,4}L_{4,4} = 3, \\ B_{8,4} &= B_{7,4} + B_{4,4} + 2F_{2,4} = 12. \end{aligned}$$

Let $n = 4 \cdot 2 + 1$, then

$$\begin{aligned} B_{9,4} &= F_{1,4}L_{9,4} + F_{2,4}L_{5,4} + F_{3,4}L_{1,4} = 18, \\ B_{5,4} &= F_{1,4}L_{5,4} + F_{2,4}L_{1,4} = 5, \\ B_{9,4} &= B_{8,5} + B_{5,4} + F_{3,4} = 18. \end{aligned}$$

Now, let $n = 4 \cdot 2 + 2$, and

$$B_{10,4} = F_{1,4}L_{10,4} + F_{2,4}L_{6,4} + F_{3,4}L_{2,4} = 24,$$

$$B_{6,4} = F_{1,4}L_{6,4} + F_{2,4}L_{2,4} = 6,$$

$$B_{10,4} = B_{9,4} + B_{6,4} = 24,$$

Finally, let $n = 4 \cdot 2 + 3$, then

$$B_{11,4} = F_{1,4}L_{11,4} + F_{2,4}L_{7,4} + F_{3,4}L_{3,4} = 31,$$

$$B_{11,4} = B_{10,4} + B_{7,4} = 24 + 7 = 31.$$

Theorem 3.9. The generating function of the sequence $B_{n,m}$ is given by

$$B_m(t) = \frac{t + 2t^m}{(1 - t - t^m)(1 - t^m - t^{m^2})}. \quad (15)$$

Proof.

$$\begin{aligned} B_m(t) &= \sum_{n=1}^{\infty} B_{n,m} t^n = B_{1,m}t + B_{2,m}t^2 + \dots + B_{m-1,m}t^{m-1} + \dots \\ &= (F_{1,m}L_{1,m})t + (F_{1,m}L_{2,m})t^2 + \dots + (F_{1,m}L_{m-1,m})t^{m-1} + \dots \\ &= (L_{1,m} + L_{2,m}t + L_{3,m}t^2 + \dots + L_{m-1,m}t^{m-2} + L_{m,m}t^{m-1} + \dots) \times \\ &\quad (F_{1,m}t + F_{2,m}t^{m+1} + F_{3,m}t^{2m+1} + F_{4,m}t^{3m+1} + \dots) \\ &= \frac{1}{t}(L_{1,m}t + L_{2,m}t^2 + L_{3,m}t^3 + \dots + L_{m,m}t^m + L_{0,m} - L_{0,m}) \cdot \frac{1}{t^{m-1}}(F_{1,m}t^m + F_{2,m}t^{2m} + F_{3,m}t^{3m} + \dots) \\ &= \frac{1}{t^m} \left(\frac{2-t}{1-t-t^m} - 2 \right) \cdot \frac{t^m}{1-t^m-t^{m^2}} \\ &= \frac{t + 2t^m}{(1-t-t^m)(1-t^m-t^{m^2})}. \end{aligned}$$

Corollary 3.10.

$$B_2(t) = \sum_{n=1}^{\infty} B_{n,2}t^n = \frac{t + 2t^2}{(1-t-t^2)(1-t^2-t^4)}.$$

Definition 3.11. The sequence of numbers $C_{n,m}$ is given by

$$C_{n,m} = \sum_{i=1}^{[(n+m-1)/m]} L_{i,m}F_{n-m(i-1),m}. \quad (16)$$

where $n = mp + l$, $l = 0, 1, 2, \dots, m - 1$.

Theorem 3.12. The generating function of the sequence $C_{n,m}$ is

$$C_m(t) = \frac{t^m + 2t^{m^2}}{t^{m-1}(1-t-t^m)(1-t^m-t^{m^2})}. \quad (17)$$

Proof. The relation (17) can be proved in a similar way as the relation (15), or the relation (11). It is easy to prove the following statement.

Theorem 3.13. The sequence of numbers $C_{n,m}$, for $n = mp + l$, where $l = 0, 1, \dots, m - 1$, and $m \geq 2$, satisfies the following properties

$$C_{n,m} = \begin{cases} C_{n-1,m} + C_{n-m,m}, & l \neq 1, \\ C_{n-1,m} + C_{n-m,m} + L_{p+1,m}, & l = 1. \end{cases} \quad (18)$$

Definition 3.14.

$$D_{n,m} = \sum_{i=1}^{\lfloor (n+m-1)/m \rfloor} L_{i,m} L_{n-m(i-1),m}, \quad (19)$$

where $n = mp + l$, $l = 0, 1, 2, \dots, m - 1$.

One can easily prove the following statements.

Theorem 3.15. The formula

$$D_m(t) = \frac{(1 + 2t^{m-1})(t^m + 2t^{m^2})}{t^{m-1}(1 - t - t^m)(1 - t^m - t^{m^2})} \quad (20)$$

is the generating function of the sequence $D_{n,m}$.

Theorem 3.16. Numbers $D_{n,m}$ satisfy the following formulas

$$D_{n,m} = \begin{cases} D_{n-1,m} + D_{n-m,m} + 2L_{p,m}, & n = mp, \\ D_{n-1,m} + D_{n-m,m} + L_{p+1,m}, & n = mp + 1, \\ D_{n-1,m} + D_{n,m}, & n = mp + l, \quad l = 2, 3, \dots, m - 1. \end{cases} \quad (21)$$

Example 3.17. Let $m = 4$ and

1° $n = 4 \cdot 2$

$$\begin{aligned} D_{8,4} &= L_{1,4}L_{8,4} + L_{2,4}L_{4,4} = 12, \\ D_{7,4} &= L_{1,4}L_{7,4} + L_{2,4}L_{3,4} = 7, \\ D_{4,4} &= L_{1,4}L_{4,4} = 3, \\ D_{8,4} &= D_{7,4} + D_{4,4} + 2L_{2,4} = 12. \end{aligned}$$

2° $n = 4 \cdot 2 + 1$

$$\begin{aligned} D_{9,4} &= L_{1,4}L_{9,4} + L_{2,4}L_{5,4} + L_{3,4}L_{1,4} = 18, \\ D_{5,4} &= L_{1,4}L_{5,4} + L_{2,4}L_{1,4} = 5, \\ D_{9,4} &= D_{8,4} + D_{5,4} + L_{3,4} = 18. \end{aligned}$$

3° Let $n = 4 \cdot 2 + 2$

$$\begin{aligned} D_{10,4} &= L_{1,4}L_{10,4} + L_{2,4}L_{6,4} + L_{3,4}L_{2,4} = 24, \\ D_{6,4} &= L_{1,4}L_{6,4} + L_{2,4}L_{2,4} = 6, \\ D_{10,4} &= D_{9,4} + D_{6,4} = 18 + 6 = 24. \end{aligned}$$

4° $n = 4 \cdot 2 + 3$

$$\begin{aligned} D_{11,4} &= L_{1,4}L_{11,4} + L_{2,4}L_{7,4} + L_{3,4}L_{3,4} = 31, \\ D_{11,4} &= D_{10,4} + D_{7,4} = 24 + 7 = 31. \end{aligned}$$

Remark 3.18. We took the values of $F_{n,m}$ and $L_{n,m}$ from Table 2.

4. Some properties of the generalized Fibonacci and Lucas numbers

In this section we give some properties of the generalized Fibonacci numbers and the generalized Lucas numbers.

Theorem 4.1. *The numbers $F_{n,m}$ and $L_{n,m}$ satisfy the following relations*

$$\sum_{i=0}^n F_{i,m} = \sum_{j=0}^{m-1} F_{n+2-m+j,m} - 1. \quad (22)$$

$$\sum_{i=0}^n L_{i,m} = \sum_{j=0}^{m-1} L_{n+2-m+j,m} - 1. \quad (23)$$

Proof. It is easy to prove (23) for $n = 1$.

Suppose that (23) is correct for $n \geq 1$.

Then, for $n + 1$, we get

$$\begin{aligned} \sum_{i=0}^n L_{i,m} + L_{n+1,m} &= \sum_{j=0}^{m-1} L_{n+2-m+j,m} - 1 + L_{n+1,m} \\ &= L_{n+2-m,m} + L_{n+3-m,m} + \cdots + L_{n,m} + L_{n+1,m} + L_{n+1,m} - 1 \\ &= L_{n+3-m,m} + L_{n+4-m,m} + \cdots + L_{n+1,m} + L_{n+2,m} - 1 \\ &= \sum_{j=0}^{m-1} L_{n+3-m+j,m} - 1, \quad (L_{n+1,m} + L_{n+2-m,m} = L_{n+2,m}). \end{aligned}$$

The formula (22) can be similarly proved.

Theorem 4.2. *Let $h_{n,m} = F_{n,m}$ or $h_{n,m} = L_{n,m}$. Then the following relations*

$$\sum_{i=0}^n \binom{n}{i} h_{r+(m-1)i,m} = h_{r+mn,m}, \quad (24)$$

$$\sum_{i=0}^n \binom{n}{i} (-1)^i h_{r+mi,m} = (-1)^n h_{r+(m-1)n,m}, \quad r \in \mathbb{N}_0 \quad (25)$$

are correct, where $\mathbb{N}_0 = \mathbb{N} \cup \{0\}$.

Proof. It is easy to prove the relation (24) for $n = 1$.

Suppose that (24) is correct for $n \geq 1$.

Then, for $n + 1$, we get

$$\begin{aligned} h_{r+m(n+1),m} &= h_{r+mn+m,m} \\ &= h_{r+mn+m-1,m} + h_{r+mn,m} \\ &= h_{r+mn+m-1,m} + \sum_{i=0}^n \binom{n}{i} h_{r+(m-1)i,m} \end{aligned}$$

$$\begin{aligned}
 &= \sum_{i=0}^n \binom{n}{i} h_{r+(m-1)i,m} + \sum_{i=1}^{n+1} \binom{n}{i-1} h_{r+(m-1)i,m} \\
 &= \sum_{i=1}^n \left(\binom{n}{i} + \binom{n}{i-1} \right) h_{r+(m-1)i,m} + \binom{n}{0} h_{r+(m-1) \cdot 0,m} + \binom{n+1}{n+1} h_{r+(m-1)(n+1),m} \\
 &= \sum_{i=0}^{n+1} \binom{n+1}{i} h_{r+(m-1)i,m}.
 \end{aligned}$$

The formula (25) can be similarly proved.

Theorem 4.3. *The sequence of numbers $F_{n,m}$ satisfies the following relation*

$$F_{n+s,m} = F_{s,m}F_{n+1,m} + F_{s+1-m,m}F_{n,m} + F_{s+2-m,m}F_{n-1,m} + \dots + F_{s-1,m}F_{n+2-m,m}, \tag{26}$$

where $s \geq m - 1, n \geq m, m \geq 2$.

Proof. Since

$$\begin{aligned}
 (1 - t - t^m) \cdot \sum_{n=0}^{\infty} F_{n+s,m} t^n &= F_{s,m} + F_{s+1,m} t + F_{s+2,m} t^2 + \dots + F_{s+n,m} t^n + \dots + F_{s+n+m,m} t^{n+m} + \dots \\
 &\quad - F_{s,m} t - F_{s+1,m} t^2 - F_{s+2,m} t^3 - \dots - F_{n-1+s,m} t^n - \dots - F_{n+s,m} t^{n+1} - \dots - \sum_{n=0}^{\infty} F_{n+s,m} t^{n+m} \\
 &= F_{s,m} + t(F_{s+1,m} - F_{s,m}) + t^2(F_{s+2,m} - F_{s+1,m}) + \dots + t^{m-1}(F_{m-1+s,m} - F_{m-2+s,m}) \\
 &= F_{s,m} + F_{s+1-m,m} t + F_{s+2-m,m} t^2 + \dots + F_{s-1,m} t^{m-1},
 \end{aligned}$$

hence

$$\begin{aligned}
 \sum_{n=0}^{\infty} F_{n+s,m} t^n &= \frac{1}{1 - t - t^m} \cdot F_{s,m} + \frac{t}{1 - t - t^m} \cdot F_{s+1-m,m} + \frac{t^2}{1 - t - t^m} \cdot F_{s+2-m,m} + \dots + \frac{t^{m-1}}{1 - t - t^m} \cdot F_{s-1,m} \\
 &= F_{s,m}F_{n+1,m} + F_{s+1-m,m}F_{n,m} + F_{s+2-m,m}F_{n-1,m} + \dots + F_{s-1,m}F_{n+2-m,m}.
 \end{aligned}$$

Corollary 4.4. *For $m = 2$ and $m = 4$, from (26), respectively, we get:*

$$\begin{aligned}
 F_{n+2} &= F_2F_{n+1} + F_{1}F_n; \\
 F_{n+4} &= F_{3,4}F_{n+1,4} + F_{2,4}F_{n,4} + F_{1,4}F_{n-1,4} + F_{0,4}F_{n-2,4}.
 \end{aligned}$$

Example 4.5. *For $m = 4, n = 8$ and $s = 4$, from Table 2, we find*

$$F_{8+4,4} = F_{4,4}F_{9,4} + F_{1,4}F_{8,4} + F_{2,4}F_{7,4} + F_{3,4}F_{6,4} = 19 = F_{12,4}.$$

References

[1] G. B. Djordjević, Some properties of partial derivatives of generalized Fibonacci and Lucas polynomials, *Fibonacci Quarterly* 39:2 (2001) 138–141.
 [2] G. B. Djordjević, On the k^{th} - order derivative sequences of generalized Fibonacci and Lucas polynomials, *Fibonacci Quarterly* 43:4 (2005) 290–298.
 [3] G. B. Djordjević, H. M. Srivastava, Some generalizations of certain sequences associated with the Fibonacci numbers, *Journal of the Indonesian Mathematical Society (MIHMI)*, 12:1 (2006) 99–112.
 [4] G. B. Djordjević, G. V. Milovanović, *Special classes of polynomials*, University of Niš, Faculty of Tehnology, Leskovac, 2014.
 [5] M. Griffiths, Fibonacci diagonales, *Fibonacci Quarterly* 49:1 (2011) 51–56.
 [6] G. V. Milovanović, G. B. Djordjević, On some properties of Humbert’s polynomials, *Fibonacci Quarterly* 25:4 (1987) 356–360.